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Instructions for the candidates :

1. Candidate must enter his / her
Question Booklet Serial No.
(10 Digits) in the OMR Answer

Sheet.

2. W?E-ﬂ?ﬁt Fuyrgye 307 Vil 4 @ 2. Candidates are required to give their
I G/ ' answers in their own words as far

as practicable,

3. gt sk gmivrd a7 )%??E'{f 3HF E’"ﬁ?ﬁ 3. Figures in the right hand margin
fAfee #vd &1 indicate full marks.

4. goal 1 Hﬂ?’;’{f‘?fﬁ‘; ‘?6’-_1} & f;_'l(f 4. 15 minutes of extra time have been
et i 15 fire &1 e o allotted for the candidates to read
fi’zﬂ e the questions carefully.

5 g8 ¥ 5’[?\?!3:7 gl gugl § #— @Ug-I 5. This question booklet is divided into
0q Gug-al two sections — Section-A and

Section-B.
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|Ug - A / SECTION - A

’Eﬂijﬁl"ﬂ' UY'/ Objective Type Questions
gyT 95T 1% 70 7% & URF Wy & Wy 9w fwey By ny & frrd @ v aet 81

g grT g7 ME WAL [AweT Fh omnﬁwﬁr@?ﬁﬁrﬁ#fssmﬁwm%x

35x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct. You have to

mark ybur selected option, on the OMR-Sheel. Answer any 35 questions.

35x1=38

.
1. ufwsR
(A) T FH (B) e 3
€ faerm w3 (D) T 9 HIY T
Echidna is . ,
(A) Con_nccting link (B) Vestigial organ
(C) Extinct link (D) None of these
2. SEIE
() T SR (B) Heheuwd Wsmid
(C)  SutaRd gt (D) W | ST &l
Dodo is ) :‘
(A) Extinct species (B)-- Endangered species
- {C) Threatened species (D)  None of these
3. fr=d @ = e @are 2
(A)  3HUSTY] . (B)  yora
"C) (0) ¥H | Wt
Which of the following is a diploid structure ?
(A) Ovum (B) Endosperm
((i)’/ Zygote (D)  All of these
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4. frod ¥ @ o iR € ?

) gt (B) ATTE
©) ¥hm | (D) TR
Which one is hydrophytic plant ?
(A) Trapa (B) Opuntia
(21 Dalbergia (D) Acacia
5. g2l W ardt A & '
(a)y g A (B) TNE A
(C} KA L (D) - TFd -
Sertoli cells are found in
(A}~ Testis (B) Uterus
{C) Ovary (D)  Liver
6. T (o) T TURGE! ! €@ € |

(A) 44 + XX (B) 44 + XY
(C) 46 + XY (D) 46 + XX
Number of chromosomes in human being (male) is

(A) 44 + XX : (B}~ 44 + XY
(C) 46 + XY (D) 46 + XX

7. i1 3vaRvy feg o9 | smfm & 2

(A) 3¥EH (B) ulvEw ame
(C) I W D) f@#r

Rhino sanctuary is located in which state ?

_(AY” Assam (B) - West Bengal
(C) Uttar Pradesh (D) Bihar
[ 119 ] E |[(A)-9009-Eqs) Page 4 of 24
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8 aEAMEH A e

(A} CO, (B) H,

(C) CH, (D) T Wit

Biogas contains '

(A) CO, - {B) H,

(C) CH, D} All of these
9. wigT-3ieR fFa e d gt & 2

A)  SRRA (B)  WRIHEATEH

(C) R (D) SHEFEATER

[n which stage does crossing-over take place ?

(A) Leptotene (B) Cytokinesis

(C)  Pachytene (D) Diakinesis

10.  YloHiosiRe & frgat witg gl & 2

wod Apnysqasq mmm//:sdny

(A)  HIV & (B) &% U H
(C) & & (D)  HE H
PCR is used to detect
(A)  HIV (B) TB.
(C) Cholera (D) Cancer
1. mﬁﬁamﬁrﬁmﬁwmaﬁmﬁl 39 0T it FEd ©
(A) AT (B) WA
(€) =g (D) T Fah
Every living cell of plant can give rise to the whole plant. This property is
known as
(A) Cloning ' (B) Somaclonal
(C)  Totipotency (D) Al of these
[119 ] E (A)-9009-Egas)| Page 5 of 24
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12, mgaieh O & yeriw 3 oRgal # gEa F®&1 8 ?
(B3) 2n

(A) n
(C) 3n D) (A 3T (o) 3
What is the ploidy level of chromosomes in endosperm of angiospermic plant ?
(A) n B) 2n
(C) 3n (D)  both (A) and (C)
13, o/ dAty # IS TEE S BRI & &, O 9¢ FE A @
(A)  TFTH A @) TS =
© () ¥R B T (D) i ST

When offspring is formed by single parent, it is called as

(A) Sexual reproduction (B Asexual reproduction

(C) Both (A) and (B) (D) Internal fertilization

14, WG GE & OEA # wa 49§l € 7

wod Apnysqasq mmm//:sdny

(A) 21 By 23
(C) 44 (D) 46
What is the number of chromosomes present in human gameles ?
A 21 By 23
(C) 44 (D) 46

15. 3= HiEA @@ SR &t & ?

(A) T & HIAq B) A E U

(€ ¥ & TETH

What does opcron model represent ?

(D) SIFT I B

(A)  Gene synthcsis (B) Gene expression

(€~ Gene regulation (D)  Gene function

[ 119 ] E [{A)-9009-Egs) Page 6 of 24
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16, Fret ot 4 et g v e k)
(A) T (B, W4
(c) A D) 3 @ @
Thalamus is cdible part in which of the following ?
(A} Annona (9].- Apple
(C) Orange (D) All of these
17. S fn o 4§ favge sipfes v b 2
(A)  2tomE (B) TRf=EE
(C)  (A) AR (B) THI (D) ¥H q F13 56
DNA is genetic matcnal of
(A) ™V ' (B) Bacteriophage
(C) Both (A) and (B) (D) None of these
18, uiftsfas &7 @) smer smen F o #1 yaw @ 2
(A) TR : (B) fafzeig
(C) ugiei (D) T F IR A
Flow of energy in food chain of an ccosystem is
(A)" " Unidirectional (B) Bidirectional
(C)  Multidirectional (D) None of these
19. P4 Q wm uw Mas ar =2d o
(A) IR B) dfeerg yfimfaa
(C)  Sraficir D)  FRiey
Which of the lollowing is udl a biofertilizer ?
(A Azotobacter (B)  Bacillus thuringiensis
(C)  Azolia (D)  Clostridium
[ 119 ] E [(4)-9009-Es) Page 7 of 24
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20. &Y Un & d@wn a: fEEd srmoeam R 2

(A) v
C) W

Tuberculosis is transmitted by
(A)- Water

(C) Inscct

(13) &
(D) wh
(B) Air

(D) Contact

21. g Ruer srjgeas hiffa § = fem s € 2

(B) &
@) T/

(B) Organism

(A) K (a1

(C) Re1L>>te

Bio-reactors in optimal conditions produce
(A) Product

(C) Medium

22. WAWE I% T g € ?

A) FIFH

{C) =G/

Menstrual cycle occurs in
(A) Human

(C) Chimpanzee
23, fe@s few & qman o &

(A)  IpTEr |

(© () 3R (B) I A

Binary fission occurs in

g

(A)  Amoeba
(S}~ Both (A) and (B}

(D)  All of these

B) dXH

) FEAH

(B) Monkey
(DL—All of these
(B) IRTHIfEH d

(D) A9 q I 6T

(B) Paramecium

(D)  None of thesc

(119 ] E [(A)-9009-Ess
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24, SN 3y o RN 18 2 7@t ofzfr o et @ e o

(B) 36
()" 32

In a DNA moleccule, the cytosine is 18%, then the percentage of adenine will be

(A) 04
(C) - 85
(A) 64
(C) 85

(B) 36
(D) 32

25. [ qfteror femaert qfez & faro famar wmen 2 9

(A)

(€

(A)
(C)

AT B) ZERIEZ

T (D)  &HI
Widal test is done to confirm

Malaria J_B,p—« Typhoid

AIDS (D) Cancer

26.  HIv = F for ifvret o smemor e & ?

{A)

(C)

(A)
(€

B-SITyTaT

a

(B) T-3RTIIT=hT

nﬁ ﬁ \E . (D) T-‘ T.-

HIV attacks on which of the following cells ?

‘B-cell

" Epithelial cell -

-(E]__.,— T-cell

(D) T-helper cell

27. @Wﬁ#%%w%ﬁﬁrtﬁ%ﬁ%

L4

wod Apnysqasq mmm//:sdny

(A)  TESH (B) I
(C)  UUETE (D) TR
The substances to which an iImmune response is produced, are called
(A} Allergens (B)  Vaccines
(C)  Antibodics (D)  Antigens
[119| & (A)-9009-Eas,
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28. UEE % WO Freert Ot T9EA €

(A) fEwim _ B) faA

© (a3 @) I D) FHAB T -
Chemical relcased duc to allergy is K '
(A) Histamine (B) Serotonin

(C) _. Both (A) and (B) (D) None of these
g |

29. &g wa § TG T A€ ?

A)  TEEA . (B)

(C) (D) ¥I° 9 &

Aril is edible in which of the following fruits ?

(A)  Myristica [B) Litchi

(C) Annona (D) Al of these

30. SO, WS89 % gUS €

L

(A) ST (B)  TEHA

(C) Ha® (D) ¥ @ o
Indicator of SO, pollution is

(A)  Algac (B Lichen

(C)  Fungi D)  All of these

31. YIS & 4807 HF HEt € 2

(A)

(C)

(B) T AyHedE!
(D) . (A) ¥R (B) T

TR OYHFE!

Honey is made by

(B) Queen honeybec

wod Apnysqasq mmm//:sdny

(A) Male honeybee
,,{C( Worker honeybee (D) Both (A) and (B)
[ 119 E | (A})-9009-E@s) Page 10 of 24
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3y, faeritra & @ Aord offe § ad

(A)  &eT B

(C)  (A) FR (B) 3 (D) A

Which discase is found in hen ?

(A) Cholera (B) Smut

(C) Both (A) and (B) (D}— Ranikhet
33. 3Sell U SR T I b Qi & wa | a e v & o

(A) A (B) Sidfaerg

() fawmo (D) dn

The flour of Idli and Dosa is made by the use of which microbe ?

(A) Bacteria (B) Lactobacillus
' D Yeast
(C) Virus 'L,)‘___,..

34. U femd wa fear smar & )

(A)  TEE . (B) WY U

C) uEFg (D) T 9% 3G
Agarose is extracted from .

(A) Maize (B) Sea weeds

Q) Cycas {D) None of these

35. WA Hiew fra weartam e o ?

(A) T AT W B) FEE

(C) I au B D) T J +E

Operon model was proposed by

(A) Watson and Crick (B) Nirenberg

(C)  Jacob and Monad (D)  None of them
[119 | E (A)-9009-Eas)| . Page 11 of 24
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36. B § @ @9 W gE | GANE S YOO S E
(A) fraceis (B) TRIOEEE _
(C)  WETde YTt ' (D) fgdasw F=®

Which one forms endosperm after fusion with male gamete ?
(B) Antipodals

IA‘]// Qosporcs
(C)  Syncrgids (D)  Sccondary nucleus

37. U S S, gE W SIg % WIS 1 ga1 a1 ¥ 1 36 U I Fed € 2
(A) ufrefaw (B) it
(C) IAREH (D) T @ HE T
Onec genc pair hides the effect of another gene pair. This phenomenon is

(A) Epistasis (B) Dominance

(C)  Mutation (D)
wﬁmﬁwmmﬁaﬁmmmﬁrﬁwwmﬂﬁ

None of these

38.
VAT E, THE I FeAE ? https://www .bsebstudy.com

A = (B) -8 FISH

(C) T=I-HEH (D) @HMA HigH

A scquence of three bases on tRNA which binds to mRNA codon is

(A) Tnplet (B) Non-sensec codon

(C) Anticodon
39. qﬁﬁméﬁvﬁﬁaﬁﬁﬁmﬁﬁmﬁnﬁmmﬁ.www%?

(D) " Termination codon

(3]

(A) ST (B) i@y

feramoy (D) EomEY

(C)

The group of Wuchereria bancrofti which causes filaria in human being is

(A)  Protozoa (B) Bacteria

(C) Virus _J_[’)L,,-Hclminlh

[ 119 ] E [(A)-9009-Eus) Page 12 of 24
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40.  AfuF EFR T A I T B 3 7Ry R vl A ¥ 2
(A)  HHE B TFd
(C)  TAF (D) IEEE
Which organ of the body is most affected by excessive intake of alcohol ?
(A) Lungs _ABr— Liver
tC] Splccn (D) Stomach
41. Wed % 9 & TH AERE €
(A) wifaer . (B) I &l &
(C) W&l (D) AR IAA
An cxception of Mendel's law is
(A) Dominance (B) Purity of gamete
(C) Linkage Wndepcndcnt assortment
42. 3 @ w9 @ I E 2
(A) TARTS (B) &
(€ el (D) fawiew
Which of the following is a sexually transmitted disease ?°
(A) Typhoid - {B) Cholera
(C)  Malaria ’B/Syphilis
43. 17 ¥ F Hewed dg ¥
A g B) =i
(© (A 3R (B) A D) &Rl
Which of the following is/are insectivorous plant(s) ?
(Ab  Drosera (B) Nepenthes
(C) Both (A) and (B) (D) Hydnilla
[ 119 ] E [(A)-9009-Kgs Page 13 of 24
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44 T v @ whw wamtErh ol @ 2

A) T @ ®
€ (A ¥R @ ) g
Out of the following which onc is hermaphrodite organism ?
(A) Hen (B) Snake
(C)  Both {A) and (B °  (D)—Earthworm
35. FFm E=SIITR?
A == (B) W&
(C W (D) T&A Hee WeH
Chlorella is a type of '
(A) Algac (B) Bactena
{C) Protozoa (D) Single cell protein

46, ‘FH-R TEEs F fFw oW ® @ e ?

(A} < B 99

© ¥ D) T

‘Cry-genc’ prevents which crop from bollworm ?

th (B) Tea

(C) Mango (D) Wheat

47 FEdddumuidsmagEagt ?

A) TEA 3R wwerEE B WReEE R griEd

(©) A R HAA (D) T @ wHE T

Purinc bascs of DNA arc
(A Adenine and Cytosine

B Cytosine and Thymine
C) Adcnine and Guanine (D)

None of these

wod Apnysqasq mmm//:sdny
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8. FmEansmnadm o
(A} FET] BT (B) =R ZRI
(©  (A) 3R (B) 3 D) TE | ®R
Cancer is causced by
(A) Bactceria (B) ncogenes
(C) Both (A) and (B) (D) None of these
49, GO UTFHd T T § ?
(A)  FANTH TS : (B) #hw T
€ (A) IR (B) I (D) F8 9 &3 =76
Which one of the following is possible in micropropagation ?
(A) Ascxual reproduction (B) Sexual reproduction
(C) Both (A) and (B) (D) None of these
50. IIRUAT % ufifafen & qrr sren @

A e e aahe (B) TIFHA @ TIHR
(€ W @ gifee (D) OIS UF qEA
Pyrimidines present in RNA are
(A) Cytosine and Thymine (B) Adenine and Guanine

) (C}— Cytosine and Uracil (D) Thymine and Uracil

51.  ZIUet G Ot w1 I foren ford 9 @i & 2

(A) Fewifen B) wIEw

() TawEES (D) ¢TW

Triple antigen vaccine is not used for

(A) Diphtheria (B) Pertusis

,(.91* - Typhoid (D) Tetanus
[ 119 ] E [(A)-9009-Eqs, Page 15 of 24
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52. fFrad e drrEa e & ?
ferer (8) FARIRAR A

(C) A IS | (D) R

(A)

Which of the following is not a greenhouse gas ?
{A) Mcthane (B)  Chlorofluorocarbon

(C) CO, ' }m/ Nitrogen

s3.  rE Ua 3uE wiew ¥

a) fufedt & form : (8 el & feaw
) e & few (D) ufgus & fem
Kanha National Park is famous for '
(A) Birds By~ Tigers

(C) Rhinoccros (D) Crocodilcs

sq. Frer d F7 AER gEe & FF TR 2

(A) I, T IR HH B) @&, T AR T8

() oI, T IR IR (D) O, "Ee 3R Fw
Which of the following is the correct food chain ?
(A) Grass, Wheat and Mango (B) Goat, Cow and Grass

/(9}/‘ Grass, Goat and Lion
55. Hferarans €

(A) qrn+qa:qn:{mgasz‘ra (B)
(C) AT qb a9 + I D) ¥ A FIE T

Nuclcoside is
'JAl/Sugar + a nitrogenous base (B)

(C) Nitrogenous basc + Phosphate (D)

Sugar + Phosphate

None of these

(D) Grass, Fish and Goat

wod Apnysqasq mmm//:sdny
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e fmin &) we B

(A)  TsEeRfTy (B)  WaErerrian
© wWReAEE D) TR @
The process of formation of gamctes is called
[A}-"""'EinmctogchSiS (B) Cytokinesis
(C) . Sporogencsis (D}  None of these
57. = @ ke Fawry @ @9 Tt dard @}
(A) W : (B)  ¥geqUS
(© fewlfe (D) A
Which of the following is not a viral discase ?
(A) Mumps (B) Influenza
(¢}  Diphthcria (D) Measles
58.  Trfeifen # @ wymem § wfnfeg T & o
(AY  AYTEE gree (B) FHp UleH
(C) T (D) S Wat
Which of the following is not included in animal husbandry ?
(A) Bee-keeping (B}  Poultry farming
(C)  Fish farming (Dl. Organic farming
59. ﬁw%%anmwmﬂﬁmmnﬂﬁa ?
(A) R IR (B) o To arewA
C) RHA gew (D) EE Fng
Who among the following is not related with microbiology ?
(A) Louis Pasteur (B) J. D. Watson
(C) Stephan Hales (D) Rabert Koch
[ 119 | E [(A)-9009-Egs, Page 17 of 24
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60. UrEREw fEwd o@ wA R ?

(A) TE-FROECH @3 2T H
(€ ¥R-dmER R o) A w @
Anticodons are found in
(A) m-RNA B) t-RNA
(C) rRNA (D)  Nonc of these
61 uzA 3 yiawem Fw
(A) FEo=S w == (B) Wﬁaﬁ"m &1 Ao
€ (A) ¥R B T D) T @ @ T

Mendcl proposed

(A) Law of inkage (B Law of inheritance

(C}) Both (A! and (B) (D)  Nonc of these
62, TEET & wgi w1 N T EAE ?
(A) wwTEE @ FES B) @A IEgE H AN
(C) TEE v & (D) T @E T
Law of segregation is also known as
(A) Law of dominance (B) Law of independent assortment
p/ Law of purnity of gametes (D) None of these
63. = TG & B @1 Aeeaye] R €
(A) ST (B) @@
(c faem (D) e fafauar

Which of the following factors is important in the formation of new specics ?

(A) Compctition (B) Mutation

(C) Isolation (D) Continuous variation

wod Apnysqasq mmm//:sdny
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64. Y&V R
(A) n_é:ff—’{f'??ﬂ' ™ (B) o TR
() @A D) TR
Restriction cnzymes arc
(A) Exonuclcase (B} Endonuclcase
() Ligase (D) Polymerase
65. ErE 3T ¥ UAT 9T H AR £
(A) I @ B HEFEE
(C) witfeafast &7 F (D) (A) FT (B) ZFT i
In National Park, protcction is provided to
(A) Flora (B) Fauna
(C) Ecosystem (D) Both (A) and (B}
66. fgdus s fHay gaa § 2
(A)  ITRH (B) WEERI
(C) wEER (D) T8 I =3 T
Secondary productivity is related to
- (A) Producers (B) Herbivores
(C) Carnivores (D) None of these
67. UWERRYE ¥ M wd ¥
Ay HEe qU & (B T @ e # 100°C F I
(€) ferdl it a@ Y 70°Cc W D) T F I T
Pasteurization is heating of
(A) milk only (B) any liquid above 100°C
(C) any liquid at 70°C (D) none of these
[ 119 | E | (A)-9009-Eqs Page 19 of 24
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(A) r}:;'rfm 1) F;mim

) Frerda o TEE

The wall of pollen gram s

{B) Double layered

{A) Qingic lavered

() Tripke lavered (D)  Multi-layered
60 TienwiEi TOE B R

(A] HmEE w (B WE

() @IEEE D) TFAH

T-lymphonyte onginsies from

(4 Bone marrow (B) Stomach
{C) Thymus (D) Liver

wod Apnisqasq mmm//:sdny

(A)  Bam HI (B)  E.coli
(C)  (A] &N By T (D)  Hindl1]

Source of EcoR] cnzyme is

(A) Bam H! JB[/ E.coli

(C) Both (A) and (B (D}  Hind11]

[ 119 | E [(A)-9009-Ens)] Page 20 of 24
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"% - % /| SECTION - B
& FANT UIT / Short Answer Type Questions

Wyt Gwar 1 ®/ 20 g Iera & ) (T 10 weAt & Iwv F 0 onddE & fav 2 siw

Fruifia # - | 10x2=20

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each question
0x2=20

carnies 2 marks : 1

1.  UZH F THE & FION F A3 2

Write rcasons for success of Mendel.

2. I HR wawdw & sfowfra w510 2
Define Coupling and Repulsion.

3. FoUHoafo W WHIT Tt | | 2
Throw light on G.M.O.

4. mm%mmwmqﬁmﬁaﬁﬁﬁml 2
Draw a ncat and well labelled diagram of transverse section of human ovary.

5.  Iohiget & ZHROTHT #T S0 FF 2
Describe the ill effects of alcohol.(,-'“'

6. <A AR W weTe Tt

2
Comment on Innate immunity/"
L] 1 A
7. wrEAe foe) fed wed £ ) 2

What is test-tube baby ? -
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8. mrewaetn N & wicida 3EER w av W

Describe the ccologicul adaptation of xerophytic plania.
w2
9, W«th;m&mnmmwmﬁntmdnm
‘ ; toms of
_What is Amocbiasis ? Name its causal orgamsm and deacribe the symp

this discasc

10. wﬂmt?ﬁmﬁmmﬁtﬂhdt 2
What arc allergics ? Describe its symptoms in bricf.
11, ¥wra et ? 2
What is inbreeding ?
2

12. Wi fevgm W v W
Throw Lght on Khncfelter's syndrome,-
DNA FaFfa & fem sravcwE e O e & W fod @ Ew & R @

wod Apnisqasq mmm//:sdny

13.
fafre w5 w1 3v w10 2
Name any two enzymes requmd for DNA replication and mention onc specific
function of cach of them. https://www . bsebstudy.com

14. v ¥ ¢ ) 3 fafu SRT ORGT % IR & R T FTE ? 2
What is micropropagation ? What are the main advantages of producing plants
through this technique ?

15. & Wil afafas (sfaved) w1 e amiea fox 3 2

Draw a ncat labelled diagram of a typical antibody.
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16, M -Pifprn drrotz o 3 ? WA W qW AR AT OW 2 e R A o T
frrgtren fr-fri[ 2
What is biadiversity hotspot ? Write down the names and specialitics of two
such hotspats of India.

17, W@ i ZRifar wr ot &1 2
Describe transcription in brief”

18. TGN (Afas w1y @1 diaa fror go@ w1 2

Explain Biopiracy in brief.

19. T & w14l #1 ferd

&)

Write the functions of blood. .

20.  TEIET AT T ¥ 2 3w W 1 9o |

5]

What is global warming ? Explain its effects.
—

aﬁmm/hngm‘wﬁw Questions

3 xS=15

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any 3 questions. Each

question carries 5 marks. Give your answer in about 120 words.

3xXxS5=15

21, O T W o Py ferd ) 5
Wrilc an ¢ssay on tissue culture, ‘

22, it Ot F e W B vt w5t 5

Describe fertilization in flowering plants.
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23. fiftar Sue qeter o Wit aols &t
Describe recombinant DNA technology in bricf,
24. WA FEON & WY a9 R frofret o avm w1
I'.I‘ﬁ‘t;gcribe three ecological pyramids with suitable examples.
25. IR ¥ m PR ) fafir faft 9 e w0
g ;']';’)‘iécuss various methods of contraception for the population control.
26. TR UIOH F1E 2 SIS & e guR | sae) g adid |

What is pisciculture ? Mention its role in enrichment of our food.
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